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Delay Lanchester Equations Under Informationization Condition

Hu Haoran, Wang Jun
(No. 5 Department, Army Officer Academy of PLA, Hefei 230031, China)

Abstract: On the basis of classical Lanchester equations, research fight process under informationization condition.
Analyze the information superiority brought about more effective and more quickly and timely in the direct reaction on
time. Based on this, puts forward the delay differential equations, and apply Simulink tool box to carry out numerical
simulation. The simulation results show that the rapid response to reduce the time delay to make one’s own casualties

substantially reduced, can accelerate the course of a battle.
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